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Introduction - UIO ' :va\'i

So, now we shall be taking the last topic of this week 8 where we will be focusing on the

unknown input observer. So, first we shall recall the type of observer. We had discussed

previously and then we shall highlight the significance of this unknown input observer. So, for

example, given the LTI system let us say x dot is equal to A x plus b u, y is equal to C x, C x

right.



So, say example we have this one, now in the observers what we had seen so far. We did not
have any additional term let us say i ed a disturbance term with its distribution matrix e. So,
we had focused on to the issue of the observability that the we discuss the observability of the

pair A comma C ok.

So for this disturbance, let us say we have this plant with input and output y. So, by taking
these two measurements, we have design an observer which gives us the estimate of the state
right. Now if we have this disturbance term here in the plant itself, then what would happen to
the observer. So, we can parameterized this one as let us say x dot is equal to A x. So, this |
can write as A x plus, let us write this as b tilde and this becomes my u tilde. My output term

remains as it is.

So, now instead of giving only this u. I have to supply this u tilde if I want to design an
observer for this system right. So, I would change here as u tilde and y would remain as it is
and this would give me the estimate of that state x right. Now here you would notice that in
this u tilde, we have two input variables. One is the what we have been using so far is the
control output u and d which is an external disturbance. So, if I want to design an observer
which can give me the estimate of the state x then I also need to supply the information of the

disturbance to my observer.

But, in many cases as we had seen during the controller designing week that many times we
do not have the information of the disturbance. So, if we do not have this information of
disturbance, how we can still design an observer which can give us the estimate of the state.

So, this topic talks in this topic we shall see how we can solve this problem.
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Problem statement q ﬂ}

Consider a system in which the system uncertainty can be
summarized as an additive unknown disturbance term as

A=A+ B+ A0 urbea i)
y(t) = Cr(t)

where x(f) € R" is the state vector, y(f) € B™ is the output

vector, u(l) € R" is the known input vector and d(f) € RY is the

unknown input (or disturbance) vector. A, B,C and E are known

matrices with appropriate dimensions.

The problem is to estimate the state of the system such that the

disturbances have no effect on the state-estimation error.

So, defining the problem statement completely. So, this part we have already seen without this
additional disturbance term. So, now, we would be considering a system which we are calling
as the disturbed continues time LTI system with A, B, C is the matrices and E is the
distribution matrix of the disturbance ok. Where x y u are the state output and input vector
and d is the unknown input or what we I call the disturbance of which we do not have the
information. But we also, but we have the information of the matrices A, B, C, E which

known to us having appropriate dimensions.

So, here the problem we want to solve is to have the estimate of the state of the system such
that the disturbances have no effect on the state estimation error. So, this formulation, what

you what we have labeled as disturbed CLTTI is pretty much a generic formulation.
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Extended formulations

@ There is no loss of generality in assuming that the unknown input
distribution matrix [ should be full column rank. When this is not the
case, the following rank decomposition can be applied to the matrix £

Ed(t) = EiEyd(t) = E43W

where E; is a full column rank matrix and Fad({) can now be considered
as a new unknown input,

So, now one point which should keep attention that here the distribution matrix E we have
assumed that it is a full column rank matrix. Now, if E is not a full column rank, then using this
rank decomposition what we had discussed earlier. I can decompose this E matrix as the
multiplication of two matrices E 1 and E 2; where E 1 is now full column rank and E 2 might
not be. So, in my new formulation I can write this as E 1 with some variable v bar. Where v

bar becomes my E 2 d t and this v bar is now my unknown vector.
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Extended formulations & f

@ There is no loss of generality in assuming that the unknown input
distribution matrix £ should be full column rank. When this is not the
case, the following rank decomposition can be applied to the matrix £

Ed(t) = E, Eyd(t)

where E) is a full column rank matrix and Fad({) can now be considered
as a new unknown input.

@ The term Ed(t) can be used to describe an additive disturbance as well
as a number of other different kinds of modeling uncertainties, Examples
are: noise, interconnecting terms in large scale systems, non-linear terms
in system dynamics, terms arise from time-varying system dynamics,
linearization and model reduction errors, parameter variations.

Now second which is pretty much important that the term E of E times d t can also be used to
describe an additive disturbance as well as a number of other different kinds of modeling
uncertainties. So, one of the examples we would take this into the when we will come on to
the tutorial that how you can model some uncertainties and some disturbances which are

pretty much non-linear in this L T I system in terms of u and y.
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Extended formulations ﬂhﬂ ' fﬂ;}

@ The disturbance term may also appear in the output equation, i.e.,
y(t) = Cx(t) 4 E,d(t)

This case is not considered here because the disturbance term E,d({) in
the output equation can be nulled by simply using a transformation of the
output signal y(1), ie.

ve(t) = Tyylt) = T,Cx(t) + T, E,d(t) = T, C(t)

where T,E, = 0, if one replaces y(t) and " with ye(!) and T,C, the
problem will be equivalent to one without output disturbances,

Q For some systems, there is a term relating the control input u(t) in the
system output equation, i.e

y(t) = Clt) + Dult)
As the control input u(t) is known, a newrltput can be constructed as:
ilt) = y(t) = Du(t) = Cr(t)

If the output y(t) is replaced by §j(t), the problem will be equivalent to
the one without the term Duf(l),

Third; so, if you recall in the output equation we have only considered that y is equal to C x t,
but there might be a disturbance term in the output equation with its distribution matrices E y.
So, to get rid of this issue; what we can do that we can design a transformation matrix let us
say T y. In the same that if I multiply or pre multiply this whole equation by the matrix T y

such that my T y E y becomes equal to 0 and at the same time my T y C is not is equal to 0.

So, I can write my or instead of taking y as an output variable I am now taking as y E which is
equal to T y C x t and this would become my new C matrix let us say C tilde ok. Another
generalization; now instead of having the disturbance term into the output equation we could
also have the input term right. In the output equation is plus D u t in addition to what we had

seen earlier. So, since this u is already measurable we can take it on the left hand side and as



defined new output vector as y bar which becomes equal to y t minus D u t and finally, it

would again become equal to C times x t ok.

So, all these four formulations we can use the standard formulation what we had introduced.
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Unknown Input Observers ﬂhﬂ : fi;
~NTE e
z(t) = Az(t) + Bu(l) + Ed(t) (disturbed-CLTI)
ylt) = Ca(t)

Definition (Unknown Input Observer (UI0))

An observer is defined as an unknown input observer for the
system described by (disturbed-CLTI), whenever its state
estimation error vector ¢(f) approaches zero asymptotically,
regardless of the presence of the unknown input (disturbance) in
the system.

So, now coming on to the definition of the unknown input observer, consider this disturbed
CLTI. So, we define an observer as an unknown input observer whenever its state estimation
error ¢ of t approaches zero as asymptotically regardless of the presence of the unknown input

disturbance in the system.
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Unknown Input Qbservers Il
( . 3
The structure for a full-order observer is described as nﬁth-; -
NPTEL

#(t) = Fz{t) + TBult) + Ky(t)
R i (Uio)
i(t) = z(t) + Hylt)

where 7 € R" is the estimated state vector and z € R" s the state of this

full-order observer, and F, T, K, H are matrices to be designed for achieving

unknown input de-coupling and other design requirements

unknown input

B.

input

uft)

state
. estimates

So, let us see so, the structure for a full order observer; we described as a z dot is equal to F z
plus T B u plus K times y of t. Where x hat the estimation of the state is given by the
summation of the z t plus H times y t ok. Where, z is the internal state of the observer and we
call it the full observer because the dimension of the state of the observer and the plant was

basically remains the same.

So, where here x hat is the estimated state vector z is the state of the full order observer. Here
we now need to design the matrices F T K and H, because the B matrices is already know to
us ok. So, these are the matrices to be designed for achieving the unknown input decoupling
and other design requirements if we have any. So, this is the block diagram description of this

observer.



Where you see that now the disturbance term which we are calling as the unknown input is
only acting onto the system. But we are not taking any information of this input to our
observer. We are only taking the information of the input or let us say the control output and

the output of the plant.
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Unknown Input Observers ﬁﬁ‘ ' ;i%

[.;-m Az(t) + Bu(f) TEd(H)

\ (disturbed-CLTI) ~F e
yit) = Czl(t)

[i[r‘, = Fa(t) + TBult) + Ky(t) \ (UI0)

E(t) = z(t) + Hylt) g
LA = zady= z AR
; W
When the observer (UI0),is applied to the system (disturbed-CLTI), the
estimation error (¢(t) = x({) - #(t)) is governed by the equation

g = n-R
+

So, let us see how we can compute the matrices F T K and H. So, this was the L T I plant and
this is the observer we have proposed. Now in a similar way we can see whether the state
estimation error actually becomes equal to 0. So, in the earlier observer design we have

defined the estimation error as the difference between the actual state and the estimated state.

So, the next step is to take the derivative of this state as x dot minus x hat dot ok. Now here I
can substitute this x dot to here and after taking the derivative of this output equation of the

observer, 1 will substitute it here. So, here in the output equation you will see that the



additional term I would get is d, x hat is equal to z dot plus H y dot ok. And y is equal to C x.

So, I can replace it by C x dot then again I can substitute x dot here ok. So, computing the

error dynamics and simplifying.
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Unknown Input Qbservers ﬁlﬁ : fyi}

&(t) = Az(t) + Bult) + Ed(t) e
f Jl. u{e)+ Bl (disturbed-CLTI) ~ TS NPTEL
yit) = Cz(t)

[i[n = Fa(t) + TBu(t) + Ky(t) (U0)

E(t) = z(t) + Hylt)
When the observer (UI0) is applied to the system (disturbed-CLTI), the
estimation error (e(t) = x(t) = #(1)) is governed by the equation
ity = (A= HCA = KyCle(t) 4 [F = (A= HCA = K, C)]=(t)
Kz - (A- HCA - KiC)H]y(t)
b [T = (I = HO)|Bu(t) + (HC !:-!El;-fl'll

where
K=K +Kk;

g 7 % LF
ey = ( Y el
) \ J LL

Finally, I would obtain these terms where we have this e dot is equal to some combination of
this matrices times e of t, which is basically the state of the error dynamics. This matrix times z
of t, which is the state of the observer. Here we have introduced K as equal to K 1 plus K 2
into this equation and finally, I can write this as some matrix times y of t some matrix time u of

t and some matrix times d of't.

Now this equation is pretty much important because what do we want that the error dynamic
should be equal to 0 under the presence of the external disturbance d. So, if we make all these

matrices; this one, this one, this one and this one. If we make all these matrices somehow



equal to 0, then we would be having only this e dot of t is equal to some matrix times e of t
ok. Meaning to say that the error dynamics now become completely or let us say the error

dynamics are now completely decoupled from the external disturbances.
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Unknown Input Observers A £ i}
i(t) = Az{t) + Bulf) + Ed(t) Ham N
[ ()= 2248 + Bult)+ Bt (disturbec-CLTI) o H
yit) = Cz(t)

(UI0)

£(t) = Fa(t) + TBult) + Kylt)
E(t) = z(t) + Hylt)

When the observer (UI0] is applied to the system (disturbed-CLTI), the
estimation error (e(t) = x(t) - #(1)) is governed by the equation
ity = (A= HCA = KiCle(t) 4 [F = (A = HEA = K, C)]z(t)
¢ + Kz - I._.-{ ~HCA- KiC)H)ylt)
+[T-(I __Hr"lj!irr[l!- + (HO = HEd(L)

where
K=K +Kk;
If one can make the following relations hold true:
(HC = NE=10 (1)
T=I-HC (2)
F=A-HCA-K\C (3)
Ky=FH (4)

So, what do we need to solve? We need to solve these four equations which basically say the
same thing that H C minus I times E should be equal to 0. Now T should become equal to I
minus HC. So, that my this term would go to 0, here we are substituting the state matrix of the
error dynamics is some F matrix right. Meaning to say so, if or let us say my F if my F
becomes equal to this would also become equal to 0. Now see this part; this is my F. So, if my

K 2 becomes equal to F into H this part would also goes to 0.
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Unknown Input Observers

The state estimation error will then be:
é(t) = Fe(t)

If all eigenvalues of I are stable, e(t) will approach zero
asymptotically, i.e. & — . This means that the observer (UIQ) is
an unknown input observer for the system.

Questions to address

# Does a solution to eqs. (1-4) exists?
o How to compute it?
o How to ensure that F is Hurwitz?

+

So, the remaining part is ¢ dot is equal to F times C. Where if I ensure that my f is a Hurwitz
matrix, then the error would become 0 asymptotically meaning to say my state estimate

becomes equal to the actual state.

But the questions which for arises that does a solution to equations 1 to 4 exists. Meaning to
say whether we could be able or we could solve these equations. As we had seen that these are
the parameter matrices of the observer which we need to synthesize F T K and H. If there is a
solution then how we can compute the solution of these equations and at the same time how
to ensure that F is a Hurwitz matrix. Because, F is not the matrix which we are assigning or

which we are defining. This basically comes from this part ok.



So, we do not know yet whether after designing my H and K or how to design this H and K
such that my F becomes Hurwitz matrix right. So, we will see the answer to these questions by

equations by taking equations one by one.
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Unknown Input Observers o ,;}

HC-IE=0 1
( ) i (1)

Equation (1) is solvable if and only if
rank(CE) = rank(E)
and a special solution is

H* = E[(CE)TCE]"\(CE)"

So, first of all we will take the first equation which is H C minus I where I is a identity matrix,
by the way H C minus I time E is equal to 0 ok. So, first we will see whether the solution of

this equation exist and what would be the solution of this equation.

So, this is the one of the important results which says that equation 1 is solvable. If and only if
the rank of C E matrix becomes equal to the rank of E matrix and a special a special solution

of this equation is given by as H star is equal to E times this matrix ok. So, now, we will see



the proof of this theorem very quickly that how this equation becomes solvable if this rank

condition is satisfied.
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(HC-T) =0 ~ TS wPTEL

Necessity:

When equation (1) has a solution H, one has HCE = E
Wil a >| uhan _} Tounn wed”
. .A.h'.qlr‘td-

+

So, again there are two parts of this proof; first is the necessity and another is a sufficiency.
So, we say that there is a solution H and let us say H is a solution implies that the rank
condition is satisfied. So, first we will see this part of the proof; the sufficiency part that if the
rank condition is satisfied implies that H is a solution ok. So, when equation 1 has a solution

H. I can write H C E is equal to E, because we have this H C minus I times E equal to 0.
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Proof ﬁlﬁ S | »:\\'é

Necessity: O weTEL
When equation (1) has a solution H, one has HCE = E or

(CE)"HT = E7

ie, ET belongs to the range space of the matrix (CE)T

Now, this part I can also write as by taking the transpose both sides by combining the CE
matrix. So, CE transpose H transpose becomes equal to E transpose. Now pay attention to
this equation. So, I can write this equation as let us say C E, I call it A bar and H transpose, let
us call it X bar and E transposes Y bar ok. So, we had seen this these types of equations

earlier.

So, let us write this in a common notation as Y bar is equal to A bar X bar ok. Where Y bar is
E transpose and X bar is H transpose and this a bar is CE transpose. So, if we pay, if you
recall the controllability week where we have introduced about the range spaces and the null

spaces. So, you would see there your Y bar should belong to the range space of this matrix A

bar ok.



Now, this Y bar is nothing but, your e transpose and this A bar is nothing, but your CE
transpose. Meaning to say that e transpose should belong to the range space of the matrix CE

transpose.
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’ F
Proof o | %
| i L %

Mecessity: < TR PTEL
When equation (1) has a solution H, one has HCE = E or

(CE)"HT = E7
ie, ET belongs to the range space of the matrix (CE) and this leads to:
rank(E") < rank((CE)")
i.e., rank(F) < rank(CE)
However,
rank(CE) < min(rank(C), rank(E)) < rank(E)

Hence, rank(C'E) = rank(E)

Sufficiency:
When rank(('F) = rank(F) holds true, C'F is a full column rank matrix
(because [ is assumed to be full column rank), and a left inverse of C'E exists

(CE)* =|(CE)"CE]™(CE)"

+
Clearly If = E{CE)™ is a solution to equation (1)

And this leads to that the rank of this E transpose matrix or the rank of Y bar should be less
than or equal to the rank of this A bar right. Now if this inequality would also hold and if I
take the transpose both sides that is to say the rank of E is less than equal to rank of C E.
However, that the rank of this matrix CE should be less than equal to minimum of rank C and
rank E ok. Which would again be less than or equal to rank of E, meaning to say for example,
if the rank of E is greater than rank of C. Then the minimum of this one would be C and then
rank C is again less than rank of E.



Now if rank of E is less than rank of C and taking the minimum of this rank C and rank E
would yield rank E, meaning to say that it becomes equal to rank E. So, the rank of CE would
never be greater than rank of E. It would always be either less than or equal to rank of E. Now
see both these conditions. The first condition says; rank of E is less than equal to rank of CE
and the second condition says that the rank of C E should be less than equal to rank e and this

becomes possible if and only the rank of e is actually equal to rank of C right.

So, this finishes the necessity part and the sufficiency when rank of CE equal rank of E and we
know that E is already a full column rank. Meaning to say that CE would also be a full column
rank matrix. Now if C E is a full column rank matrix, then I can take a left inverse of this
matrix as and which can be written as C E, we have used another denotation as plus. So, ¢
raised to the power plus becomes equal to C E transpose C inverse times C E transpose. This

is basically the pseudo inverse of this CE matrix.

So, finally, I would have H is equal to E pseudo inverse of C E is a solution to equation 1 ok.
So, this finishes the complete proof of the theorem 1. So, now, we have the solution and we

have the conditions under which this equation 1 can be solved.
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Unknown Input Observers Sl ¢ ?ig

(HC-NE=0 (1)
T=I-HC (2)
F=A-HCA-K,C (3)
Ky=FH ()

The solution of equation (1) is given by
H = E(CE)’
where (CE)* = [(CE)"CE| " (CE)’
Substituting H into (3), we get
F=A-HCA-K(C
(1 - E(CE)* C)A - KiC
A-KCO

Now, if once you have computed this H, you can directly compute this matrix T. Because C is
already known to us and I minus H C would give us the T matrix ok. So, this is quite trivial.
Now the third equation is F is equal to A minus H C A minus K 1 C. So, now, we need to see
that whatever the H we have computed from the first equation if we plug that H into this

equation can we show that my F matrix would be a stable matrix for some K 1 let us say.

So, let us see. So, the solution of equation 1 is given by this one; H is equal to E, CE plus,
where CE plus was defined as this. Now if we substitute this H into this third equation; that is
to say A minus H C A minus K 1 C would become this one. Where I have taken a as a post
multiplying factor from the first two parts of this equation that is I N minus E CE plus is H C
and A minus K 1 C. Now I substitute this whole part as A 1 and so, finally, this f becomes A 1
minus K 1 C ok.
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Unknown Input Observers ﬁlﬁ ' ‘i}
J

[.j-m = Az(t) + Bu(t) + Ed(t)

(disturbed-CLTI) ~ 8 e
olt) = Clt)

{:‘m Fa(t) + TBult) + Ky(t) (ui0)

i(t) = 2(t) + Hylt)

HC—-1)E =0 ()
T=1-Hi ]
F=A-HCA-K.G 3
Ky =Fli )

The necessary and sufficient conditions for (U10) to be a UIO for
the system (disturbed-CLTI) are
o rank(C'E) = rany(E)

o (C, A)) is detectable pair, where

A =A- E[(CE)CE CE)TcA

So, now this equation you would see which is pretty much familiar to you. We will summarize
all the results later on I mean into this slide. So, given this plant which is having an additional
disturbance term, we have designed this UIO and ensuring that the solution of this equations
exist. Where the key matrix is the H matrix depending on the H matrix, the further three
matrices could be computed ok. The hurwitzness of this F matrix is a separate part which we

will see now.

So, this is the main result for the unknown input observer that the necessary and sufficient
conditions for UIO to be an unknown input observer for this system that the rank condition is
satisfied of which the importance we had seen already. And the pair C coma A 1 is detectable
where A 1 is basically A minus H C A ok.



So, the significance of this first condition is that if the rank condition is satisfied we can
compute H ok. So, this equation is solved if this first condition is satisfied. Second; we can
compute the t matrix. Now if C or A 1 comma C pair is detectable. Where this one is A 1 if A
1 comma C pair is deductible meaning to say F would definitely be a Hurwitz matrix ok. Now
so, this equation matrix we can also compute whatever F we have obtain from here and H

from the first equation multiplying these two matrices would give me K 2.

So, basically we have computed all these four equations and the necessary and sufficient

conditions for solving these equations basically this one ok.
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Unknown Input Observers AR
HC - D)E =0 (1) m z +
r=1-HC 2 NPTEL

F=A-HCA-K(C (3)

K; = Fi (4

gy,
= "1‘.

@ k) is a free parameter in the design of a UIO. The only restriction on K
is that it must stabilize the system dynamics matrix F.

@ The matrix Ky is not unique.

® (UIO) will be a simple full-order Luenberger observer by setting T = |
and H = 0, when E = (.

unlnwlmln\‘:ll 2y €2 4 _f‘.._\u " k‘:[
K= 21hge

+
; r}:\1 'ELJth

e

A

So, these four equations which are the key equations for designing the UIO. Here you would
notice that we have not used K 1 and K 2 for any purpose. So, basically, K 1 is a free

parameter which basically ensure the hurwitzness of this f matrix. So, this matrix K 1 possibly



would not be unique. Now the interesting part of this UIO is that this UIO actually becomes a
full order Luenberger observer if we substitute T is equal to I, H is equal to 0 and E is equal to

or under the absence of any disturbances.

So, this Luenberger observer we had seen earlier we can see very quickly. So, this is the
observer we have z dot is equal to F z, then x hat is equal to z plus H y right. So, this is what
we has is a observer. So, now, if you substitute T is equal to I. So, this will go away as an
identity matrix H is 0. So, this part would become equal to 0. So, the remaining part is x hat
would become equal z. So, substituting z by x hat here in the first equation we would have x

hat dot is equal to F x hat plus Bu plus K y.

So, this is the same observer we had designed in the starting of this week. Where if you recall
instead of this K matrix, we have used an L matrix where we have also ensure the hurwitzness
of the matrix F. So, we had discussed two methods; one is the eigenvalue simon method and

as the Lyapunov method for designing this Ff matrix F and I matrices.
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Design procedure for UIOs ﬂﬁi - f’%
One of the most important steps in designing a UIO is to stabilise '
F = Ay = K4C by choosing the matrix K, when the pair (€', A;)
is detectable.
o If (C, Ay) is observable, this can be achieved easily by using a
pole placement routine.
o |f (C, 4) is not observable, an observable canenical
decomposition procedure should be applied to (C, A, ) which is

P.-h.lr"_l = |:‘.l“ 0 ] :_,l” € grixm

A Ap

op 1 = [(l- []‘ - Rnr’\'ll
where 1 is the rank of the observability matrix for (C', A;),

and (C*, Ajy) is observable.

If all eigenvalues of Ay are stable, (C, A, ) is detectable and
the matrix I can be stabilized.

So, as the necessary insufficient condition; we need the f matrix to be a Hurwitz matrix. Now
if this pair a one comma ¢ becomes an observable pair then we can substitute any K 1 matrix
meaning or we can place the eigenvalues anywhere onto the left hand side by designing this k

1 matrix.

So, we have more design freedom. Now if this pair is not observable then of course, by using
the concepts we had introduced earlier on decomposition procedure we can check the stability
of the unobservable part ok. Which is here A 22 matrix. So, if the eigenvalues of this A 22
matrix are stable then with the detectability or with the observability of the pair A 1 1 and C
transpose C star we can say that at least A 1 and C is a detectable pair. So, that we can carry

forward with the designing of this K 1 matrix.
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UIO design procedure

\
diF
—
i Ed |

) Check the rank condition for £ and € E- f rank{°E') # rani( E), 2 UKD does nat exist go to 10 L :
@ Compute 1, T and 4, NPTEL

H=E[CE)TCE|" CE); T=1-HCi A =TA
Q) Chck the observabiity: If (C, Ay ) obsarvable, 2 UID exists and Ky can b computed using pole

placemsent, go to 0

o Construct a transformation matrix P* for the chservable cananical decomposition: To slect independent

my = rak(Wy) (W is the observability matrix of (£, A ) row vecter pf | ""-J-l from Wy,
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So, we see the entire procedure. So, the first check condition is the rank condition, whether
the rank of E is equal to the rank of C. If this condition does not hold then the UIO does not

exist because this is a necessary and sufficient condition and we will go to stop.

Now, if the same condition is satisfied. We can compute this H matrix and further we can
compute the two matrices T and A 1. If this pair A 1 comma C is observable we can directly
compute this K 1 using the pole placement technique or either of the method we had discussed
earlier and finally, we compute this F and K matrix and then we can stop the algorithm. Now

this step 4 is basically the decomposition procedure if the pair a one comma c is detectable.

So, that we can compute this transformation matrix P and using that transformation matrix I
can obtain the observable part of this un observable system. So, checking the detectability, we

can see if the A 22 is unstable then again the UIO does not exist and we can stop the



algorithm. So, depending on how many states are observable we can assign the desired
egienvalues and the rest would stay as it is. So, again we can compute this F and K matrices

which would finally, yield us the unknown input observer.



